XYY H | 0L G6 T 89 10 °€ £42 HZ HOT | $10THZ HOT - £422HT HOT | 61
LGZSTWE | V2T 16 ¥ VT 60 '€ £42 HZZHOT | 12T HEZ HOT — £12 HIZHOT | 8T
HHH®E | 6L 60 ¥ 8L €T "¢ £90 HEZHZ | 09T HEZHE - £10CHZZHGT LT
LeZSTWE | 6 €T 98 ¥ 8721 AN £422HL HOT | £10 HS HOT - £18 HO9 HOT | 9T

YW Y | g8 82 'S 6°8 €z ¢ £U9THO9 HT | $102H9 HT - £12THO9 KT g1

HYYHyH | 9°8 LTS Z°8 €e ¢ £USTHOZ HY | 0T HIZHY - £U2T HOZ H ¥ A

HYEYHyH | 0°8 8¢ 'g LL 2y e BHZTHT HL | £8V HZ HL — £H0THT HL er
HYYHE | V8 6L°S 8L 6V '¢ £07 H6TH9 | 102 H6TH9 — HUPTHSI K9 ar
LQIGTWEE | 201 g9 'g 011 IS "€ £18 H6 H6 | HHOTHITH6 - £19THS K6 1
HXYHE | 872 8T 9 6L 19 ¢ L0V HLIH6 | $10 HSTH6 - £i2THOTH6 0T
Xy HE | 8°8 67 "9 S'6 68 '€ LHOTHST HT | 40 HOTHT — £HZTHSIHT 6
XY HE | 28 259 8L 10 ¥ £40 HGSZH6 | £V H9ZH6 - £10 HVZH6 8
HHHXE | 6°8 LT°9 T°8 2TV L0V HPT HIT | $42 HSTHTIT — HHOTHZTI HIT | 2L
HEWAHE | 16 L€°9 €6 ey ¥ £40 HETHS | HUPTHETHS - £H9THITHS 9
HYXYHE | 976 LT°8 €6 LLV L0 HVY HE | 48T HV HE - £H22HE HE g
HYXYHE | 96 6L°8 T°6 6L T LHOTHET HY | 48 HVIHY - HH9THITHT v
L9161 E | ¥°8 V16 0°6 Gs °g £USTHGZ 8 | 48T HOZHS8 - £HO0ZHG6T K8 g
HYXY B | 20T 1811 G 0T €L°9 £49 HIT HZT | 10 HZI HZT - £H0ZHOTI H2T | ¢
LTTGTWE | 0°GT 1€ VI Vel 0T 0T |£4STHOTHL | %£H0 H6THL — £uUSTHS HL T

S) fif 5 w) B | (S) K= w) el 7 S e,
H . “mwwsk | mEs | mmoxw Wy %
(6T~T) =454102 tht Gk 3 H =
FEHME WAFHE- CLCV—ER




